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QUESTION 1

While preparing for a new ONTAP installation, you discover an issue with the controllers that are running ONTAP 9.5.
The issue is not affecting controllers that are running ONTAP 9.4 with the latest patch version.

In this scenario, which two steps should you perform to solve the problem? (Choose two.)
A. Review the issue with the customer\\'s deployment to see if it would be affected.
B. Inform your customer that they must always install the latest supported ONTAP release.

C. If the controllers are in a Product Support Bulletin with ONTAP 9.5, open a case and wait for support to provide a
patch release.

D. Download ONTAP 9.4 with the latest patch version and ONTAP 9.5 for an eventual rollback on the day of the
installation.

Correct Answer: CD

QUESTION 2

A customer wants to reduce the disk allocation requirement for the root aggregate and increase usable storage by
partitioning the disks into one large part and one small part. The small part is used for the root aggregate and the large
part for the data aggregates.

In this situation, what is this feature called?

A. ONTAP

B. storage virtual machine

C. Advanced Drive Partitioning

D. RAID

Correct Answer: C

QUESTION 3

After you deploy a 4-node AFF A220, you want to upgrade the ONTAP version of the cluster.
In this scenario, before the upgrade, which advanced CLI command is used to locate epsilon?
A. cluster ha show

B. clustering ring show

C. cluster image show

D. cluster show
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Correct Answer: C

QUESTION 4

You have a 6-node ONTAP 9.1 cluster with two FAS6290 nodes and four FAS8080 EX nodes using a SAN protocol.
In this scenario, how many FAS9000 HA pairs would be joined to this cluster?

A.3

B.2

C.9

D.6

Correct Answer: D

QUESTION 5

What is a valid failover policy for a SAN LIF?
A. disabled

B. broadcast-domain-wide

C. system-define

D. local-only

Correct Answer: B
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